Relative AChE1R activity (mDO / min)

Relative AChE1S activity (mDO / min)

2.0

0.5

0.0

20

0.5

0.0

" R°R3

* DR®
R®s
e DD
A DS
488

Females

T T T T T
1 2 3 4 5
Number of R copies in the genotype

" R°R
* DR®
R%s
e DD
A DS
+SS

3
Females

Number of R copies in the genotype

Relative AChE1R activity (mDO / min)

Relative AChE1S activity (mDO / min)

2.0

0.5

0.0

2.0

0.5

0.0

" R°R3
* DR®
R®s
e DD
A DS
488

Males

T
0 1 2 3 4 5

Number of S copies in the genotype

" R°R3
= DR®
RS
* DD
A DS
S

Males

Number of S copies in the genotype




